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The Newspaper tells us what is happening all over the world. with in a very
few hours or any great events, no matter in which part of the world it occurs,
we can read about it in the newspaper. '

R0 T IR BNITES wOrLS PURRY Wi SORIH. cPTe
DTID P33, widS cswPde HonsO RoBORY T, Eexo Fode nound
TR AT0T TINYY LT,
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Industrial Economics
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Instructions to Candidates:

1) All sub-questions should be answered at one place continuously.
PO GO TZ RPN Locde 3ER ¢OIT 200D.

2) Answer to all Sections should be written in the same answer book.
Qe NN GUFTNRYRY, 2.0T¢e YT B, Foddd), WICWD.

SECTION-A
gt - @
Answer any ten of the following questions in 2-3 sentences each: (10x2=20)
3RS Wesors BE) BINeR 2-3 WFNTY, eVBORD.
1. a) Give the meaning of Industrial Economics.
‘0T OPFTN, T OTF 3R8B0.
b) What is Private sector ?
‘SRR FOOR' HOTEEI 7
¢) What is globalisation ?
‘2NBeTTE’ QOTBEI ?
d) What is E-Governance ?
‘E- 38938" 2083830 ?
¢) What is Joint Sector ?
'Hocd08 WOCD' HOTTER> ?
f)  What is Industrial Policy ?
3 00% 268 0BT ?
g) Define E-business.
‘E- &,@®e0" 9,85, R.
[P.T.O.
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h) What is localisation of industries ?
3rodsny Feold, e300 DOTTERD ?
i)  Define E-Marketing.
‘E- SInoow’ w9,809,030.
j)  What are ubiquities ? Give examples.
‘TREET TR MR 7 YRBTH BRRO.
k) Expand SIDBI.
‘O%°,e3005°.8.0.:03F" DRDAD.
1) Define FDI.
2. 8.003F. (FDI) wif 559,359,380,

SECTION-B
PN - D
Answer any three of the following: (3x5=15)

3INS Pewor RWwd wvZoRD.
2. Write a note on private sector in India.
PR0RY, 0oTN [OODT i LT WICWD.
3. Explain about Information Technology.
‘Brkd 03P’ Wi DTOAD.
or N
4. Write a note on 'Electronic Payment System'.
‘adEpE Aomocd’ FEF wrf K8 Lde0.
@ n e
5.  Explain the working of SFC's in India.
033 ‘OXF.oFF.R' Y FoCIRFITH wrj\ e3Ted W30WD.
6. Write a note on IDBI.
"005°.8.10.68000°" wif £8ed 230000.

SECTION-C
R - A
Answer any two of the following: (2x15=30)

NS etor OB LVZOXD.
7. Explain the factors inhibiting industrialisation.
3, MoD3es0re8 RRTBIONTOT L0BNRTFDY BOAD.
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10.

11.

Critically examine the 'Alfred Weber's tﬁeory of industrial location.
‘WOFHE SWTT §TR0T FLFOD AW0TTY QTIFFTN H02eDRD.
Discuss the main features of industrial policy 1956.

1956 T 3o edcd T wFrnYD) whiFAD.

Examine the merits and demerits of FDL

‘0F.8.800°'S roran [B) dreEnY Wi TS0,

SECTION-D

R - 8
Case let : (1x15=15)
Aé NTTII -
@ )
Industries have a tendency to start in a particular place with considering availability
of raw-material, cheap labour, market, transport facilities, availability of energy and

adequate finance. Sir M. Visvesvarayya in his book "Prosperity through industry” states
that a modern industry requires Money, Material, Market, Men, Machinery, Motive

power, Management, Means of Transport etc.
%maﬁﬁ#@l 20830 Eb@rﬁw :g;csq 02, D0LROTIN, ﬁzsau FRE0N NS, BaFTUS, mtb‘u‘aﬁw,
0N @@z,jéﬁ%b, JyoD e:»a%é B RFOBE I aﬁsa‘c'axaigl ﬁﬁaﬁde}%&m«{}mmgzﬁ.
RO, @0. DFeFTON,B/ID 3R 7,053, “ErwlEny mueT ATWD H0TT. STOIE
303Nt TravoRd, WRIND, TJRS:I, CI0ER,LT[ITLONS, FeTRTE, ITFTE W[oE
TOR BeBE BBFIINTS), BROOTITH.
Questions: B,37%0.
i)  What is industrial location ?

003D %@eﬁdw POBBEID ?
ii) What factors influence the location of industries ?

§ModEne FPegsn Ded TeE Weds BosnveaE 7
iii) Is industrial location helpful to industrial development ?

%meé :o;@esdsa, %m@%mﬁ eﬁzpa%%ﬁ N@HoCINBamNTIoR 9
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BANKING LAW AND PRACTICE
(Repeater / Regular)

Instructions to Candidates:

1) Answer all the questions according to internal choice.
2) Question-11 is compulsory (Case - Study)

SECTION-A
e - @

1. Answer any Ten of the following
WBezor3 BB [yINeR YLBOA0.

2)

b)

c)

d)

g)

Who is banker ?

239,080 000 0IRTO ?

Give the meaning of indigeneous banker.

%@eoﬁa mzsoa)m# SPFTR, [AlslevSlol

What do you mean by commercial bankers ?

e, LTD,0BONTY DOTIED ?

Mention two objectives of RRBs.

RRBs &8@> evdideanedsy 3920.

Give the meaning of general crossing of cheques.

zséﬁaf RORIF, TesDeatd WFHEDI), 39RO,

What do you mean by dishonour of cheques ?

w8one ©reds QOTBEZ) ?

What is general relationship between banker and customer ?
239,080 &8 TR,TBC [BODS ToWRE F0L0T QOTBEI> 7

III Semester B.Com. Degree Examination March/April - 2021

Maximum Marks: 80

(10%2=20)

[P.T.O.
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h) Expand (a) MICR (b) IFSC
%020 (a) MICR (b) IFSC
i)  Who is an illiterate customer of Bank ?
2,083 &TFTF Mo,®T OTT dRTd 2
j)  Write the two features of current account.
38 B0 TR 8 NPTy LTOWT.
k)  What is E-banking ?
DT,TYS 23,0307 HOTTERO ?
1) What is cash credit ?

[Nc T3 Q0BT 2

SECTION-B
wgen -~ w 7
Answer any three of the following (3x5=15) - -

degor Sawedd BInen «vgOA0.
2. Briefly the agency service of commercial banks.
ordzs, 239,080 “'F0ddF IR0 ReSNTIY”’ :Soiea_,mﬂ WWOAD.
3. Distinguish between general crossing and special crossing.
W3yNe RS, Seades I e Tedrond F IR VA0
4.  What are the advantages of fixed deposits to a customer and banker ? Explain.
BT Feased aINPon MyBFT TOW) 23, 080R BTHT CRPINTY DW[OHRD.
5.  Explain the procedure followed in opening and operating of minor accounts.
e55,E BODRT ARINYRY, 9, 0oRRED, IBFGOFLD LRV HDIRNYRY D=OA0.
6. Distinguish between Traditional Banking and E-Banking. |
RO, TRODT 230, 08N 0B DBYTYS 23, 08NF W ITYANTDY A0,
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10.

11.

SECTION-C
: R - B
Answer any two of the following (2x15=30)

WeFs ST JJNer Lv3dA0.

Explain the modern scrvices of commercial banks.

WOrdz, 9,080 BTN ﬂeﬁﬁe}a@l TDAD.

Explain the circumstances when a Banker acts as Bailee and Trustee and Agent of the
customers.

WR,080RD CURTRN VLB FEOFEEF X ToCDF GIROCINN FSFRTYF W3 AD.
Define cheques and explain the essentials of cheques.
33, 9,209,000 WD) 23T wBFIINST SPA0.

CC U | prd ) 3 %

What is internet banking ? Explain the advantages and dis-advantages of internet
banking. '

DT, TR 19,08 QOWTERD ? SDBROENTE), W08 STTBAVINTEY, WTOA0.

SECTION-D
QPR - B
Case Study (Compulsery) (1x15=15)
B,80r Fo0T (5m0D 3)
As a bank how you deal with the following situations:
Qe 2T, 03TT0N NS ROTPFNYY, Tert 3, BTORONO DOLOTTY, R
a) A customer of bank has kept his valuables for safe custody. Can you exercise
a right of lien on valuable for the overdues of debt of the customer ?
2,033 B2y MR,TBR0 3 WS s SN KoTFFMN Xegy' CaBCIY, QTHTS.
e BRONY e M,TIT W08 POTLT VTN A TWHEITD THIIY
BT OWRWTITE.
b) A customer sent his cheque for collection. Can you apply garnishee order on
that cheque ?
WY TR,TT WgRy, SRPDEMN BELRATN zsa;; Boed Vewy Ve STETI[I)
WORRPILTOT.

[P.T.O.
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c)

d)

A cheque of Rs.10,000 bearing a date Ist June 2020 is pre-presented for
payment on 15th May 2020.

fToo% 01-06-2020 8 Te. 10,000 N w385y DwamwN DFoo8 15-05-2020 3
SR W 08Y, FTITARTNG.

An account payee crossed cheque has presented for the payment over the
counter.

T,QFBFAR [N, 0t TeDrd AT R INQMMN 3, 08T TP0LTIY,
Enintetataillaniyl

A cheque of Rs.4,000 bearing date on 30th April 2020 is presented for payment
on 5th May 2020.

0208 30-4-2020 oY B0 de. 4.000 ne @) memaneh OT0T
5-5-2020 oz w03 TIWTTRALT.
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IIT Semester B.Com. Degree Examination March/April - 2021

RETAILING MANAGEMENT
(Repeater/Regular)

Instructions to Candidates:

1) Answer all the sections according to internal choice.
0308 BORAYED, TR, T,INVR Y0A0.

2) Question-11 Under Section-D is compulsory.
BF - 11 N & Fwoeb.

SECTION-A
PN - &

1. Answer any Ten of the following.
5ol BB J[Znen «v30R0.

a)

b

£)

g)

Mention two reasons for growth of retailing.
Po08RY, WD WFSERR CINRPYTOETR HTE FoTLNTI) 39AD.
Who is E-tailer ?

DT, TS EewT* HOTT CIRTD ?

What is highway retailing ?

B $TOBN W, TT[OTTERO ?

Write any two characteristics of organised retailing.
oIz FTOBY mﬁmdcs Mlelech) @isaﬁeéag 22380000.
What is Unorganised Retailing ?

RO STOBOY 39, T0TB0TTERD ?

What is Licensing ?

DO[OIN R0TTEZD 2

Give the meaning of Green Field Strategy.

A 63, 303,83 BPFII), Ve@O.

Maximum Marks : 80

(10x2=20)
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o

h) Write any two importance Retail Pricing.
3008¢ a59,E90 233030 BB FOTIRYE) WwBoW0.
i) What is Decoy Pricing ?
B8R0 W3S QoTTERD ?
+j) Expand : EDLP and FEMA
»BOY wBcwd : EDLP =3 FEMA
k) What is market segmentation ?
Sple vl ] DS 0T ?
1) Give the meaning of Promotion Mix.

B0 Q0F,00 UHFH VR0

SECTION-B
Wt - W
Answer any Three of the following. (3x5=15)

3 39n3 Pemos Sedd JINRIR eUZDAD.

State the challenges faced by retailers. |

$T%0% TR,TROTED SCOORITT FTLON), BewO.
Explain the advantages of unorganised retailing.
eamoTeId $TOBY msmdcs SRBRUBNTL DO,
What are the importance of FDI ?

OBed Fe0 BRHFD RBBRTERD) ?

Explain the objectives of pricing.

23683 AROETTOT YV EBNYRY, DTOAD.

What are the limitations of online retailing ?

65‘@3@‘ TS mgmdd SVENTIND) ?
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10,

11.

SECTION-C

, dpon - 8
Answer any Two of the following. | (2%15=30)
egom Q0B BIReR eVIOAD.
Explain the advantages and disadvantages of E-retailing.
DTS BTV 29,7008 BREAE T LIRBTAUINTI) DWOX.
Discuss in brief various types of retail pricing strategy.
00BN 39,T0T 2363 INDETTHT NG T,F0T FoZNTR, ﬁoﬁs@mﬂ WWFAD.

‘Explain opportunities and challenges for organised retail in India.

(PUIEE, ROPLIB $TBY T, TROTN BTN FF ITNISY HTO.
Explain the role and importance of retailers.
300809 T, TONY T, &) 30,3008, FoDTY, ESOR.

SECTION-D
, open - o
Case Study (Compulsory question) (1><'15=15)
T30 gobs : sEeD B3
You are appointed as Marketing Manager in Sun and Moon Ltd. Co. which deals in

tubelight manufacturing. Due to keen market competitions the sales of the company
declining, as a marketing manager. ' '

ZoRY) B® I Rwed* BOTIODL a:;sm%wsdow SesogrieoRRe0. adenss DINYE - 9303503
BRBBE, BWFOX0T [P0 QOBODRRORE. BTBOOT W0V aﬂﬁm@a‘ﬁmh AN
BoIIR B,oNnYI) 3PAD.

a) What is advertisement ?
0B OBV ?

b) Suggest steps to improve the sales.
WO BRI AR 3,3oNnER) ARUAD.

c) What are the suitable pricing strategy to improve sales.
WRT0E TS AT 2383 303Uy SR, RRB0.
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II1 Semester B.Com. 3 Degree Examination, March/April - 2021
COMPUTER APPLICATION IN BUSINESS - II
Paper - 11
(Repeater/Regular)

Time : 3 Hours Maximum Marks : 80

Instructions to Candidates:
1. All Sections are compulsory subject to internal choice.
2. - Section D is compulsory.

| SECTION -A
Answer any Ten questions, Each carriés 2 marks. | (10x2=20)
Give the meaning of Electronic Spreadsheet.
What do you mean by cell pointer?

Write the purpose of Auto fill option.

List any four functions category in M.S-Excel.
Define DBMS.

Expand DML and DBA. |

What do you.m'ean by Foreign Key.

List any four data types in M.S - Access 2007.

A A A o

Define Tuple.
What is MIS?
List the objectives of MIS.

e i
PR

Define System.
| SECTION - B
Answer any Three questions, Each carties Five marks. . (3x5=15)
13. Explain the Features of Spreédsheet Applications.
14. Describe any Five Mathematical function of M.S-Excel with Syntax & Example.
15. Discuss the components of Data Base System.
16. What is Query? Explain action Query.
17.. Explain the Role of System Analyst in an Organization.
P.T.O.
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18.
19.
20.
21.

22.

SECTION- C
Answer any Two questions, Each carries 15 marks. ) (2x15=30)
Explain the M.S. Excel Window with neat Label diagram.
What is Database? Discuss Advantages and disadvantages of Data Base.
Describe the functions of MIS in detail.
Write short notes on:
a). Typesof Charts in M.S-Excel.
b) Network Model.
c)  Structure of MIS.

SECTION- D
Case study [Compulsory] | _ (1x15=15)
Create the table “Hospital” with the following Fields. Patient - ID, Patient Name,Age,

Department, Date of Admission, Charges... and Gender.

Perform the following queries.
a) InsertFive Records.

b)  Display all the information of the Patients from ‘Cardiac’ Department. |

¢) Display Patient - ID, Patient Name, Charges of Male Patient.

d) Display the Patient name records whose name starts with “P”. -

- e) List the records whose charges is between Rs.10,000 and Rs.20,000.
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11 Séme.ster B.Com. Degree Examination March/Aprit - 2021

BUSINESS STATISTICS-I
Paper - 1
(Repeater / Regular)

Time : 3 Hours - Maximum Marks : 80
Instructions to Candidates: ' :

1)  Working steps should be mention.
2)  Simple calculator is allowed.

SECTION-A
RN - © |
_ Answer any Ten of the following o (‘1’0X2#20)
crREREaR 10 IZReR wwgord.
1. a) Define skewness.
OTIODTY, T8 N0. |
b) What do you mean by Range ? Give the formula for co-efficient of Range. .
- Zerd aéddem ? erdad rOFBH0sE XRE,ETY, JedD.
c)  Can statistics prove anything ?
Hoam, TR SRREFD T IS 9
d) What iS open and distribution ?
- WIS Yo B0R Q0BT ?
e) What is frequehcy po_lygon ?
SHBFS WRE,E 0TTEO ?

[P.T.O.
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f

g

h)

)]

K

)

Write down the formula for .any two relative measures of dispersion.

CIRYREER SO WHET HIOHS SYING BRI, WWo.

‘What do you mean by the term conditional probability ?

wWOBT Rogsecddd Housed ?

A fair coin is tossed twice. Find the probability that the tosses result in (i) two
heads (ii) at least one head.

D9, 0eeu3 ﬁasaaé) adc@a 0 ¥ ojamsd 3 IS QRO FOz03T
“’owssaeojoéocbm BOROGHRO00D. (i) adzzo 3@5’71@;0 (i) Qg z.,ocSJ 3@3

What do you mean by secular trend ? Give an example.
3863 TFd 0WSED 7 WTIHTROLTY, Ve
What are normal equations for the straight line y = at+b x

y = ath x 3 50¥ Seadod> MRRE, AROTTRNGIID) ?

1

| _ |
~ With usual notations if P(A) = PB) = = and P(AUB)—— = ﬁnd P(AAB) ?

P(A) = = P(B) = = R P(AUB) - facrm P(AmB)R‘O ﬁocsoao@oaob

Given the following information find average daily wage of an employee

No. of employees = 50
Variance of the daily wage = Rs.9 |

Coefficient of variation = 2.5

s BT IHEBc0T PUOS AOUHO GFOOR SeIIT FORRBCD.

800 Hoa, =
BR00T Fe3IT F3],F (Variance) = 9. 9

TRrs omoos (CV) = 2.5
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SECTION-B
apn - W
Answer any Three of the i‘ollowing: : (3x5=15)

v

BRYTAS R BINOR Gv30R0.

2. The mean and standard deviation of a characteristics of 100 items were found to be
60 & 10 respectively. At the time of calculations, two items were wrongly taken as

5 & 45 instead of 30 & 20. Compute correct mean & S.D.

.08 R SHNY RROTENS FooE0 Ly R DU LHTN 60 Ty 10
DOTH FoTLBODGING. $TY SFRFPTT FToHHBY, 30 =0 20 T wIN 5 T 45
20T TN IATEAYOONG. FOKRG Hoo0 Fody FnE DEOBERY, FoRERAAO.

3. From the following data draw more than ogive curve
B3 $9NI TS0Brivo3 more than ogive curve R, 3iowd.
Weight . 410-420 420-430 430-440 440-450 450-460 460-470 470-480
(in grams) | |
3rB(Ng,0.N¥Q)
No. of Mangoes: 10 20 42 54 45 18_ 07
IROT BeNY |

750&35

4. If probability of getting a contract A is 0.25, probability of getting a contract B is
0.15 & the probability of getting at least one contract is 0.30. Calculate

wwocs A e [rdodos RoyglmReaddadn 0.25 BN, &,auod B esaigl E0=
Rowadeoddd 0.15 «nm) =03 T, - Molaninleb) mwocsa:% TEcd0E RoPRVeoRZoD
0.30 NI, B AT Rozi@ReoBoNTY, FoTRBROND.

r

[P.T.O.
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(a) the probability of getting contract A only |
%eaﬂo. LT A B8 BBITY.
(b) the probability of getting contract B only
Seo Lo B ey SR
(c) the p'rlobability of getting both the contracts -
| | QOBR WIOTNTRY DTCT0HTI.
5. From the followmg data estimate the trend values by taking 3 yearly moving average .

sems ﬁaaoefﬂ@ocs asm aﬁac) ﬁeﬁab 3 Zarod B3 Soaxonees eaomz:hb

Year: © 2000 2001 2002 2003, 2004 2005 2006 2007 2008 2009 2010
Sales: 200 120 280 240"7 160 320 360 400 —3207 360 360 |
(in lakh) - )
SRS

(AR, ©BRYY)
6. Distinguish between primary data & secondary data.
TO,PR0T R Q30D BRSNS S0 IF/AMS 7 o
SECTION-C
oprt - ¢
Answer any Two of the followingr : S (2x15=30)
crwEte 0B DIt wIor0. |

7. "Diagrams do not add anything to the meaning of statistics but when drawn & studied
intelligently they bring to view the salient characteristics of graph". Explain.

"‘Besass, ) 30869037 @cﬁri aasm ~ebzb@t‘;)o Zialel waaoééobaow W,ATN
RS ecjiojoé TRATN Y P wdaaab eaﬂ'am#sb abeﬁfoaéeaﬁ” SH3OXD.
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8. The following data relates to sales of Kumar Ltd.
B 903 TEosR) HRRG OWHE'T HPOHE FOwORTIZS.
Year: 2016 2017 - 2018 2019 2020
Sales : 10 200 30 50 40
(in lakh) R
SO
(Cp.08Mve)
. Requ1red -1 B FINIPYrent- amébfua

a) Fita stralght line trend by the method of least squares & tabulate the trend‘
'values

f&)e% P8R Dpsds Jed Jeadod =, wéwm aS:aoCD» &33 5&3 a m“ao mm
A "‘&3 $30080. , S
b) Estlmate the hkely sales for the year 2022.
2022 3 8o3iRoR SIFS TROOLTI, GOD.
¢) By what year the eompanys expected sales would be 84 lakhs ?-
oS Iars e amcbesaé) de. 84 osam Sw@sd ?

9. You are glven the following data pertammg to without hours of electncuy consumed
by 100 person in Belagavi.

dgroodd, 100 Sensd ;)csaa‘ab u%a‘aﬁ =] i?ﬁmdoé %eiraem o ﬂo&smandasd
Consumption :  0-10 - 10 -20  20-30 30-40  40-50 '
(in K-Watt hours) ' X
WY (Schoea s -
rosingd) | o
- "No. of users : 6 25 36 20 13
wedmeod Rosd, . o | |
“Compute : &3 sena@n@a: BRI,
a) Standard Deviation

S DR
b) Karl Pearson's co-efficient of skewness

RUF 2CHOIIT HRRIeD rom0s

" [PTO.
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10.. a) There are 20 persons. 5 of them are graduates, 3 persons are randomly selected
from these 20 persons. Find the probablhty that atleast one of the selected
persons is graduate ~
20 F3necOzE. ANsY, 5 =TI JEIFOWD B3 20 ags_z‘.’snﬁ@od 3 a‘:ﬁﬂ#&‘% ST BN
$503), SRBFCWR. H0d), SIRBUT F[ENYEY BT, Wy [ FOINTE BEIFTTINTLI

| RogBReodBaDTY, FomOHBOAD.

b) In a college there are five lecturers among them 3 are doctorates. If a
committee consisting 3 lecturers is formed, what is the probability that atleast
two of them are doctrates ? _ : -
FTAT,OBTY, 5 =T WTINTOTT. BITY, 3 &I wFTewIY
arao@damﬂmd 3 e "’ﬁda’o miﬁ:aozs RSO, TeIATT, edde) fae%
QYT aasdeas ejnd)a ~oz;aa)eosoé 22 9

¢} Two computers A & B are to be marketed. A salesman who is assigned the job
of finding customers for them has 60% & 40% chances respectively of
succeeding in case of computer A & B. The computers can be sold independently.
Given that he was able to sell atleast one computer, what is the probablllty that
computer A has been sold ?
BOR,L0° A 53333 B o3 =»noot m:sase&cs W) BRoATWTANR T, BB
BOBIBOR %ofuﬁm Do&meza,acb ™,TEOIY odo%odnﬁ TOBRBS ﬁoe,e;aﬁascf A
OO B 3¢ Sabmn 60% m 40% I, e:smsadﬁd FOTR, WO, XBOZ,0N
PROVE BRTBLBOTING. eaao 59% z.,oz:b 60@&563’% WRTOE3 mww
RROFFINTN, FoFR,ET A o) SN0 RWIEIT RoReohd DI ?

SECTION-D

ot - @
‘Case Study: o . (1x15=15)
&80 @qﬁ odR:

11. A purchasing agent obtained samples of 60 watt bulbs from two companies. He had
- the samples tested in his own laboratory for length of life with the following results.

Length of life : Samples from ' |
(in hours) . ' Company Anil - Company Sunil
1700 & below 1900 10 . | 03

1900 & below 2100. _ 16 ' 40
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2100 & below 2300 20 12

2300 & below 2500 o 08 03
2500 & below 2700 06 02

(@ Which company's bulbs do you think are better in terms of average life ?
(b) If prices of both types are same, which company's bulbs would you buy & why ?
2 00D TRY TR FOTINECT 60 59, 52 zoe:‘ ¢ SRTONTSY, TERBRORTOTS.

=11 a’vns TOS03NGHODN  5ITO 33% Nos woﬂmemoojocsé wﬁeﬁad a[NTOny

89&)@;3&)0533‘0 BRoOTOTT. ‘
ReDWRE | | ®eoonesy 3RmdeoR SoTRAT

(Mowinigd) | B0WD ©JO BoTR RV
1700 == 1900 803 3@Ed 10 03
1900 & 303 @ 2100 16, | 40
2100 & 03 3@ 2300 20 12
12300 & 803 sa 2500 08 03
2500 & 403 vaD 2700 06 02

(a) o3 so"‘zoo:b WM F0eR0 VeBIT daaoaaod em@ma"om m&)noéea

(b) THD T[FOT wWeNY BSnsh wotde sNST, e odnss BOTNOD  WERNTRY
3358@»3&60 eﬁ)& 533 ?
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Reg. No.

IIT Semester B.Com. 3 Degree Examination March/April - 2021
CORPORATE ACCOUNTING-I
Compulsory

(Repeater / Regular)

Time : 3 Hours Maximum Marks : 80
Instructions to Candidates:

1) Attempt all Sections according to internal choice.
2) Use of Calculate is allowed.
3) Give working notes wherever necessary.

SECTION-A
wgen - &
Answer any Ten of the following 2L (10x2=20)

FINS Wemd 10 JINer wuZ0A0.
1. a) What is interim dividend ?

R0, 03T Y0 L90TTERD 2

b) Define goodwill.
3e3F TIPO,T T, &3, WICWD.

¢) Name the two methods valuation of Shares.
BeooNYRY, PO, BRI [TRBET 0@ DTS 39XD.

d) What is meant by money at call and short notice ?
39,080 B, [TCTY, BLOTIY ARUWIN INT TEEIVDF 0BT ?

e) Give the meaning of statement of assets and liabilities.
SBANY B BREMOINY Te3od ©@F IRA0.

f)  Give the formula for calculation of normal profit.
AORRT, R SERCTE ARE, wWICWD.

g) What is super profit ?
TOF ooy owdesd ?

[P.T.O.
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h) Name two factors affecting valuation of share.
Becorts RBR,TY, ZOmR) DeCIE TBE BONEnFRy TIOAD.
i) What is statutory reserve ?
RS w:SQ O RGeS0 ?
j)  What is liquidation of company ?
F0T[NOD DRFS LTV ?
k) Name the four examples of preferential creditors.
T,83 ToVMTT 4 evTomTTe BRG0.
1) Name the two factors affecting valuation of goodwill.
3e3F [P, (Bomosdd) Roedd TOFIT 2eT0R TB) 0BNIIY, E9AD.

SECTION-B
ot - W
Answer any Three of the following (3x5=15)

3 NS iesors 3 JZNIR GuZDAD.

3.  From the following particulars of Nirani Company Ltd. Show the share capital
appears in the statement of assets and liabilities as prescribed under the revised
schedule of the Companies Act. (Vertical form)

Authorised Capital . 3,50,000 equity shares of Rs.10 each.
Issued capital : 3,00,000 equity shares of Rs.10 each.
Subscribed and paidup capital : 2,50,000 equity shares of Rs.10 each.
Calls unpaid : By directors Rs.20,000/-

Forfieted shares : Rs.10000/-

Dooed BoTD ©. LN B§FoDY, VoW BB03E), Bert woREsY BeORD0.
©HE 3 WOTBY : 3,50,000 a3t e on. 10 So3.
VBENBEINRG  WoBT : 3,00,000 %323 3¢T gp. 10 dod.
R0SBIRT  WOBTY : 2,50,000 2kl B3¢0 dr. 10 Jod.

o Ser gt TR womee : de. 20,000
SoefiRee Tt Jed LORY 1 UR. 10000/-
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The following particulars are available form the books of the business of a trader.
a) Capital invested Rs.4,00,000/-

b) Normal market rate of investment 11%

¢) Trading profits of past 5 years

I year - Rs.52000
II year - Rs.55000
III year - Rs.58000
IV year - Rs.61000

V year - Rs.64000
Calculate the value of goodwill of the business on the basis of 4 years purchase of
annual super profit.

T FINT w0 F@HT ROZOD 333NT HB|INT.
2) WoBWY BRdd de. 4,00,000/-
b) Fmowes, wyind ned Imeee 11%
) 5 THFT ooy DTV :
I Secdh ImF - de. 52000
II Secd &He - dw. 55000
I Secdd == - de. 58000
IV Seod SA@F - dr. 61000
V Seod SmE - de. 64000
8, e AT m’odz;irﬁo RIT m’aoéa:% 4 ITFE T oy $peos Ko
FoRO&HBOWD.
The following are the particular relating to X Ltd. Dharwad :
Total Assets : Rs.6,00,000/-
Outside liabilities : Rs.1,40,000/-
10000 equity shares of Rs.10 each fully paid Rs.1,00,000/-
Proposed dividend at 20% on the above shares.

Calculate net assets available to the equity share holders and value of share as per
ex-dividend.

[P.T.O.
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X ©. CROmBE HEOND 3 3SNT03 B3

2k, eﬁaﬁeéo - 8r. 6,00,000/

BAONS ummbﬁeﬁo - dp. 1,40,000/

10 dp. SPD3SeDd, 10,000 Ss8k3 Seconsd on. 1,00,000/

g5 BeOT 3T WORBTND oed3 Be. 20 TR, ontADler ww&ﬁmﬁd

B33 Seghrsooon @2.3 Donow zoag; SN eﬁﬁﬁ SRE0. TR JeTd 5396 w3 B RBNBOT®
w%?d B0TBIHRON0.

5. From due following information of Janata Bank Ltd. prepare P&L A/c for the year
ending 31-3-2020.

a) Interest and discount Rs. 2,77,500
b) Interest on deposits Rs. 1,20,000
¢) Commission and exchanges Rs. 30,000
d) P&L Alc (credit bal 31.3.2019) Rs. 60,000
¢} Operating expensces Rs. 39,000
f) Provision for Income Tax Rs. 27,000
~g) Provision for baddebts Rs. 18,000

wITo W08 FozHodn B3 WNSTeS BB, BTT LFo00008  FOBIOD oY -ToN
\ méodoso oFo08 31-3-2020 § 30330080,

ca) Wi 0B Redd gdr. 2,77,500
b) Bemed Boed WA, 3dn. 1,20,000
c) B FF YAV leve de. 30,000
d) ©og-TR and
(2709 omoos 31.3.20193) ol 60,000
g) TFTH a?z‘a‘zﬁ%;b gn. 39,000
f) eoecd 301 PRIA QOERODRTIWED TR 27,000
g) XoBoIRAT =R T, ToON de. 18,000
6. Explain the order of payments to be made by liquidator at the time of liquidation of
company.

00T DRWEHOD ROTWIFTEY, @fgsc%&,sdab NOPRIRROTT TRV DG BOINYIY,
2800,
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SECTION-C
ot - @
Attempt any two of the following (2%x15=30)
eFT DTEG HUSDRD.
7.  Following is the trail balance of A Ltd. on 31-3-2018.

Name of accounts Debit Credit
Rs. Rs.
Subscribed capital (100,000 shares of Rs.10 each) 10,00,000
Calls in arrears 15000 --
General Reserve -- 40000
Profit and Loss A/c -- 65000
Bank balance 71300 --
Sundry Debtors 174000 --
Reserve for doubtful debts -- 8700
Sundry creditors 166000
Goodwill 40000 --
Building 800000 --
Machinery 660000 --
Furniture 14400 --
Depreciation on machinery -- 66000
Investments 95000 --
Preliminary expences 9000 --
12% debenture -- 600000
Outstanding interest on debentures -- 28000
Loans and advances 85000 --
Closing stock 10000 --
19.73.700 19.73.700

Prepare the statement of assets and liabilities in vertical form as per the Companies

Act.

[P.T.0.
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A SR wBNAT T30Sd0 o708 31-3-2018 66 5030 P0E03 <ado§;3.

2503y BT WO Dr Cr

dn. an.

S08RdNG worwew (1,00,000 Bedonsd gn.10 Bo3) 10,00,000
o BB 15,000 --
RN, QM -- 40,000
o [T AN | - 65,000
W08 &, 71,300 -
TOONTTO 1,74,000 --
RoBoSRRE DS Y -- 8,700
TOBOTHTD -- 1,66,000
Bomosdd 40,000 --
TR 8,00,000 --
03203, NEd 6,60,000 --
PFIONLL 14,400 -
o308,7te RoedT RITEN0 -- 66,000
BRATNLL , 95,000 -
TPRFLOD DDFTIL 9,000 --
12% B8owuond -- 6,00,000
aordc’ Bed3 wR, Wb - 28,000
e FF) WooNENL ' 85,000 --
o> de) 10,000 -
Wi, 19,73,700 19.73.700

F0TD03 DOHVRBTT ©Foss w,FORY, (©otT%0 T,303008) S03JOAD.
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8. The following is the Balance Sheet of X Ltd. as on 31-3-2020.
Particulars Note Amt Rs.
L Equity and Liabilities :
1.  Shareholders fund:
a)  Share capital 1 8,00,000
b) Reserves and surplus 2 2,48,000
2.  Current liabilities:
Trade payables: S.Creditors 7,52,000
Total 18,00,000
I Assets:
1. Non-current Assets:
Tangible Fixed assets 3 9,00,000
Intangible Fixed assets (patents) 1,40,000
2.  Current Assets:
Inventories: Stock 4 2,00,000
Trade Receivables Debtors 5 3,20,000
Cash and cash equivalent 6 2,40,000
(cash at bank) Total 18,00,000
Notes to balance sheet as at 31-3-2020.
Note No.l Share capital:
8000 equity shares of Rs.100 each 8,00,000
fully paid up
Note No.2 Reserve and surplus
General Reserve 1,60,000
Surplus P&L A/c 1,28,000
Less: Discount on share 40.000 88,000
Note No.3 Tangible fixed assets:
Land and building 4,00,000
Machinery 5,00,000
The company revalued the assets as follows
Land & building Rs.6,00,000
Goodwill | Rs.7,00,000
Machinery Rs.4,40,000
[P.T.O.
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The profits of the company were:

2017-18 Rs.3,20.000
2018-19 Rs.2,80,000
2019-20 Rs.3,60,000

The company follows the practice of transfering 20% of the profit to general reserve.
Similar type of companies earn at 10% of their shares.

Find out the value of equity shares of the company as under.

a) Intrinsic value method

b) Yield method

¢) Fair value method

X ooz somodn 31-3-2020 3 38 2ONT02 S W3 BRODT.

HTONLD e IR3(Tw.)
L wang S Tone RWIOLRON
1. 3e¢Tome00 Y.
a) BT WoBY 1 8,00,000
b) Jp e O 2 2,48,000
2. 30 wERWONL:
TR0 orRRHSE O 7,52,000
T ey 18,00,000
"I AR -
1. dohd aQm AN
Reeds ATATIVD 3 9,00,000
RREES ATIANW 1,40,000
2. w9 sans
(ADZDI 4 2,00,000
TOOTWTT 5 3,20,000
239,080 [N 6 2,40,000
Lt OR. 18,00,000

LR 0T &Se.'b;s'éﬁeéo 31-3-2020.
&3&;:“5—1 BeT0 WORTOY:
8000 mmsé Beoons 0R.100 Sod Te. 8,00,000
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uDR-2  Tone ooy
RRRT, I e, 1,60,000
2O dn. 1,28,000
333 B edI Roed 40,000 T 88,000
BDE-3  Reest RooRR: |

Hoo sugEntd  ©9.4,00,000
08, eECEONE | . ©8.5,00,000

BoTICH LANIRY B N3 DIARPYWRTT BREOING.

R0 W) FIBAW . ©9.6,00,000

Romosd aPe. 5.7,00,000

0%008 R, eTIFTLANTD %.4,40,000

gozaodh ooyid DNd Bt N3 [k |

2017-18 | 85.3,20,000

2018-19 g%.2,80,000

2019-20 gd%.3,60,000

goznod Be. 20 oD, oam_ RO, R SersE IeEEE. wtde IoTT Wed
goNED 3y Becorte Boed Be. 10 FoZ woyIneROT. B IR TewT DEOTNVOZ B33k
3e0x S FoD HAOWD.

a) ATF GA LS
b) LTI JFI
c) odeer ISP, DS

[P.T.O.
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9. R. Co. Ltd. went into voluntary liquidation on 31-12-2020. The following are the
particulars provided by the company.

1500 equity shares of Rs.100 each Rs.75 paidup Rs.112,500
750 equity shares of Rs.100 each Rs.60 paidup Rs.45000
Unsecured creditors Rs.3,60,000
Secured creditors (security on plant) Rs.1,50,000
Preferential Creditors Rs.30,000
Liquidator realised the assets as under:

Cash Rs.15,000

Stock _ Rs.90,000

Land and building | Rs.3,00,000

Plant Rs,2,10,000

The liquidation expenses amounted to Rs.4200/- The liquidator is entitled to a
commission at 3% on the assets realised (excluding cash) and at 2% on the amount
paid to unsecured creditors.

Prepare the Liquidator's final statement of account.

o208 31-12-2020 oz R oz ©. oo &N BRNTI BeoDT. FoTICIL F NI
ARSI ) TPZAT.

100 de. Bad 1500 Bs3k3 Jeoonsd dn. 75 Romeod Bw.1,12,500

100 Te. WSoH 750 S:8e3 Bedonwd Te. 60 MoTo®d Tn.45,000

3,3 BROTE TANT d».3,60,000
35,3 BrodT OND (ST TR, 08) 8r.1,50,000
T, BAE FONTO 8».30,000
XBNTS OTO0 B FINTO3 LAY, [P0 BRATT:

|nad or.15,000

ADZDIY dr. 90,000

PR ®B) IR | 8».3,00,000

T, ;08 0%.2,10,000

BRNTT0DTD IPRT WF TR. 4200. ZSNTIOTOR INR BRODTRY BANTI,
AL IS ELE) Ron, %Al SRS Soedd Be. 3 :sm“ F0IIFR BIFD R 3 BROTT
2Ono moaagl TSRS oeed Je, 2 dﬁ:ﬁ BORF TBoDLL 9T/ETO. '

RRPTTOTOCL 9037 wz%ojomcl (6%%) 303080,
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10. From the following trail balance of Canara Bank Ltd. as on 31-3-2020. Prepare the
balance sheet as at and relevant schedules as on date.

Particulars Dr. Cr.
Share capital : Issued and paid up 4000 equity
shares if Rs.100 each Rs.80 paid up 3,20,000
2000 preference shares of Rs.100 each fully paid. 2,00,000
Statutory reserve , -- 1,60,000
Capital Reserve -- 40,000
Cash in hand ' 2,00,000 --
Current deposits with RBI 3,00,000 -
Fixed deposits with RBI 2,40,000 -
Profit for the year (Before appropriation) - 2,84,000
Profit and Loss A/c (1-4-2019) - 60,000
Unpaid expenses ' -- 8,000
Balance with other banks : 6,00,000 --
Money at call short notice 1,20,000 -
Current deposits -- 8,00,000
Saving bank deposits -- 5,00,000
Fixed deposits -- 3,20,000
Recurring deposits - 1,00,000
Investment in Government Securities 3,00,000 --
Borrowing from other bank -- 1,80,000
Bills purchases and discounted 2,80,000 -
Term loans 8,80,000 --
Provision for bad and doubtful debts -- 1,20,000
Provision for income tax -- 56,000
Advance income tax 20,000 --
Furniture and fixtures 20,000 _ --
Stationery and stamps ' 10,000 --
Non-banking assets - 1,10,000 --
Advance to staff for expences ' 22,000 --
Advance to builders , 38,000 -
Investment in shares 20,000 | -
31,60,000 -31,60,000

[P.T.O.
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b

Other information:
1) Bills for collection amounted to Rs.1,00,000/-

2) Acceptances and endorsements on behalf of customer Rs.1,50,000/-

300 0,08 O. WENAT oY TWeJEdTY STOR Ty 00TV BOTNOD LEs BT SOIWORD.
Torte BITENYRy He3n SdR0RO.

22ERY BAD BB W[T Dr. Cr.

Bedd WOBWOT:
VEINTE BT ToNp JOISAT

womsed 4000 RN, Jedd 0%.100 Tc3

dR.80 0BT -- 3,20,000
2000 3,35, Becorisb de.100 Sod

TPLOF FWIRBATY -- 2,00,000
TR W PN -- 1,60,000
WOBE PN -- 40,000
JncHd g duonshd 2,00,000 --
RBI cdpodnt 30Q 259388 ma» de) 3,00,000 -
RBI odnodni ?gpd Pea3ed R e 2,40,000 --
=,R03 5&’&F§ RP(BRINPT W0UWT) - 2,84,000
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oo W T 8503 (1-4-2019)

BT WM

930 W 088Q, wIR ),

RoR030EF FoF =) TodF SReEST

w9 deednsd

PTICID BeTEINLL

?%)d Fes3esnsd

O30on BeWEINTL

XTE0 WY, TRRS

2368 w3,080T O Cuelalav "
V* DD T RReRRPPAT),

LITE TN

BOBIRIT TO WA F3T0 Hoed IR BROTET
00 301 3N0RTTH

ZooonE 3o m'aam%

FOFUT I &

6,00,000

1,20,000

3,00,000

2,380,000

8,80,000

20,000

20,000

36323/C230

60,000

8,000

8,00,000

5,00,000

3,20,000

1,00,000

1,80,000

1,20,000

56,000

[P.T.O.
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11.

BeBso Y W 0T 8¢ | | 10,000 -
TR w080 AT  1,10,000 -
22008 T0ONE TOVIAT, | 22,000 -
2OTR Hoord DB | 38,000 -
Beconse), Bews 20,000 -

ORLY 31,60,000 | 31,60,000
/B3 TP :

1) 9oy Rorbseo By de. 1,00,000/-

2) ©oNTOROL WF) JeroIVR:S B dw. 1,50,000/-

SECTION-D

en -I a
Compulsory o (1x15=15)
B0 T3

The Bharat Company Ltd. invested Rs.2,00,000/- and normal profit earning is at 10%
the company earned profits in the last 4 years.

2015 - Rs.40,000 | 2017 - Rs.80,000

2016 - Rs.60,000 2018 - Rs.20,000
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The company values the goodwill under the following cases:
Case-1 - 4 years average profits and
Case-2 - 4 years super profits.

Find out the value of goodwill in each case and which of the goodwill you accept and
why ? Explain.

70038 30T ©. dr. 2,00,000/- BekE SRRT B I TR, ned Lmneo e 10
T, FOTAOID CPNYR), ST TOAITY 390 4 SIRFNAYE, 33 IPNF0Z INAS.

R P/ Tod S/E oY/ TR
2015 - ©n.40,000 2017 - ©n.80,000
2016 - ©»n.60,000 2018 - ©T».20,000

B3 SUAS BOTPFNRTY, FoTD RoToRT BPY, 81 DESCINNT.
BIore-1 - 4 STENY NCoRD PN,
BBCee-2 - 4 JRFNY BRTO' COPNLL.

81 oed AT XowyrE Bdodpomd RFITOT BPO,TEY, FORHLROWD =0F) 03N
SPOTIY, wRBRWID ? T DF ? JTOAD.




